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Alex is folding two identical paper strips. o

g | think% of the strip will be bigger than
% of the strip because 4 is bigger than 2

Use paper strips to proveAlex is incorrect.

© WhiteRosa Maths 2019




image2.png
‘Who has more? Explain why.
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Do you agree? Explain why.
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Mo has two ribbons. He cuts % from each ribbon.

5cm
1 of ribbon B _
4cm

How long were Mo’s whole pieces of ribbon?

Which ribbon was the longest? How much longer?
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True or False?

% of the shape is shaded.

Explain your answer.
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